
ФАРШЕМЕШАЛКА HURAKAN HKN-MM90A 

1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ФАРШЕМЕШАЛКА HURAKAN HKN-MM90A 

2 
 

 

Поз Наименование детали 

1 Motor fixed board 

2 Pin shaft 10x35 

3 Truckle 

4 Body 

6 Cross pin seat 

7 Cross pin 

8 Spring 

9 Handle 

10 Left shaft seat 

11 Spacing press board 

12 Spray head 

13 Handle 

14 Elastic cylinder 

15 Spindle 

17 Left hopper shaft 

18 Oil seal 30x40x8 

20 Switch box 

21 Shaft seat 

22 Bearing 60206 

23 Pinnacle nut M20 

24 Flat C8x50 

25 Small chain wheel shaft 

26 Handle 

27 Left  seat of hopper cover 

28 Lobed wheel 

30 Right seat of hopper cover 

31 Hopper cover 

32 Right hopper shaft 

33 Elastic washer 

34 Bearing 60107 

35 Right shaft seat 

36 Big chain wheel 

37 Big chain wheel shaft 

38 Roller chair 06B-3X150 

39 Big band wheel 

40 VA Belt 900 

41 Axle splash board 

42 Hex head screw M6X30 

43 Small band wheel 

44 Pinnacle nut M12 

45 Hex head screw M12X40 

46 Pinnacle nut M14 

47 Handle of motor base 

48 Motor 

 

 

 

 

 

 


